www.Padasalai.Net www.Trb Tnpsc.Com

(Class :10 Bl

COMMON HALF YEARLY EXAMINATION - 2

Time Allowed : 3,00 Hours| SCIENCE
PART - |

rks:75 1

natives and

I.  Note: (i)Answer all the questions.
(if)Choose the most appropriate answer from the giv

write the option code and the corresponding a 12x1=12

1. The unit of °g" is ms, It can be also expressed as

a) Cms" b) Nkg*! c) Nmg* *s?
2 Power of a lens is -4D, then its focal length is

a) 4m b) -40m -25m
3. - aprons are used to Protect us from gam )

a) Lead oxide b) Iron d) Aluminium
4. The Volume occupied by 1 mole of diatomic '

a) 11.2 litre ~ b) 5.6 litre d) 44.8 litre
5 Which of the following is the universal s

a) Acetone b) Benzene d) Alcohol
6. TFM in soaps represents _

a) Mineral ' b) Vita tty acid \ d) Carbohydrate
7. Who discovered chemical path

a) CNR.Rao  b) Kolliker c) Sochs d) Melvin Calvin
8. The brain of leech lies a -4 -

a) mouth ’ | cavity c) Pharynx ~ .d) Crop
g. :

c) axon d) dendrites
c) Diaphragm d) Tubectomy
centre of the ~————-. chromosome.
s a) Tele

c) Sub-metacentric d) Acrocentric
% Al files
a

c) paint d) Scanner
Part - I

er any seven questions.

22 is compulsory.

second law. ()

y diagram to show the image formed by a Convex le
and 2F. (»)

ule's law of heating. 4

ine atomicity, )

IIn the blanks.

a) The general molecular formula of Alkyne is
b) 100% pure Alcohol is called
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-8 Who discovered Rh factor? Why was it named so? | ‘-f
19. What are Synthetic auxins? Give example?\05

-20. Name the secondary sex organs in male. "6
A4 What is metastasis? 2|
22 '

- A radon specimen emits radiations of 3.7x10° G Bq per second. Conve

. disint ion in
term of Curiorr £,

PART -1l

lIl. Note: Answer any seven questions. Q.No: 32 is compuls Tx4=28
23 List any four Properties of light. 2
24 a) Define the unit of Current. 'S :
b) Distinguish between resistivity and conductivity of
25. a) What is meant by alloys 9 )
b)

What 1s meant by binary solution =

26. In What way hygroscopic substances differ from d
27. Difference between monocot root and Dicot r
28. How do plants absorb water? Explain. z.q,_
29. Name the gaseous plant hormone. Describe its
30. Define Ethanobotany and write its imp

31. Enumerate the importance of forest, 223
32. a) When an aqueous solution of

uesc tances. lo

erént actions in plants. | & Ié_;

is added to an aqueous solution of Silver

IV. Note: Answer all the Ix7=21
Draw diagram w

33.a) i) Define one

nservation of linear momentum. /j—
(OR)

b) h there is no Doppler effect in sound? ( 5
f controlled and uncontrolled chain reactions. | &
34. a) ite Metal. A Combines with O, to form B at 800°C, the alloy of A is used in

. Find A and B. (H
t features of “Modern Atomic Theory”. :F
\ (OR)
le reversible and irreversible reactions. [O
thanol manufactured from Sugar Cane? |
ite the dental formula of rabbit. { 2
sify neurons based on its structure with suitable diagram. i (S
(OR)
i) State the applications of DNA finger Printing technique 2 £ |8
i) How is the structure of DNA Organised? What is the biological Significance of -DNA?QM} }Q )
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COMMON HALF YEARLY
EXAMINATION-2024-2025

CHENNAI DISTRICT
STD: 10 SCIENCE
PART-1

. is” protei
d) Cm?s? protein pre e@(
d) -2.5m

c) lead
c)22.41
c)water
c) fatty acid Sy
d) Melvin calvin C
b) buccal cavity
. b) sarcolemma
10.a) copper T
11.b) metacentric
12.a) folder

Epididymis, seminal vesicle,
ostatesgland and penis.

‘, cerous cell migrate to distant

Parts’of the body affect new tissues. This

Cufie = 3.7 x 1010 Bg= 1Bg=1,/3.7*1010
3.7*103 Bq=100 curie.

RN M A WN R

PART=I1I
13.The force acting on a body isdi

PART-II

23. Light is a form of energy.Light always
travels along a straight line.Light does
not need any medium for its
propagation. It can even travel through a

vacuum.The speed of light in vacuum or
air is, ¢ = 3 x 108 ms-1Since light is in the
form of waves, it is characterized by a
wavelength (A) and a frequency (v),
which are related by the following
ating states that the heat equation: ¢ = vA (c = velocity of
any resistor is: directly light).Different coloured light has a
al tg the square of the current different wavelength and frequency.

gch | the “resistor. directly 24. The current flowing through a conductor
is said to be one ampere, when a charge
ectly proportional to the time of one coulomb flows across any cross-
for which the current is passing section of a conductor, in one second.

through the resistor. Hence, 1A=1C/1S.
e number of atoms present in the

molecule is called its ‘Atomicity’.
17.CnHzn-2, absolute alcohol
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Resistivity Conductivity

It is the resistance of a conducts of | It is the reciprocal of electrical
unit length and unit area of cross resistivity.
section. SamacheerKalvi. Guide

1

Its unit is ohm metre. Its unit is mho metre ™',

- RA 2 b
P L U—p

25. An alloy is a homogeneous mixture of
two or more metals or of one or more
metals with certain non-metallic
elements.B) A solution must at least be
consisting of two components. Such
solutions which are made of one solute
and one solvent are called binary
solutions. E.g.,, On adding CuSO4 crystals

to water.
26. HYGROSCOPIC SUBSTAN
Hygroscopic substances Deliquescence substancesy, N

When exposed to the atmosphere at | When exposed to the atmospheric
ordinary temperature, they absorb | air at ordinary temp )
moisture and do not dissolve. absorb moisture andissolves

Hygroscopic substances do not
change its physical state on
exposure Hm air,  SamacheerKalvi.Guide

Hygroscopic substances may be | Del t
amorphous solids or liquids. crystaltige Saids.

tances are
27. MONO&DICOT s \)

Monocot Root N |
Xylemis polyarch. TN S Wglly tolfarch. |

Pith is usually large at the cenie:

Conjuctive tissue is made U
| sclerenchymgg#BamacheerKai. Gl

There 1s no

ondary growth is generaily
nt.

28.Wate senty e soil must reach the

xylem ots. Root hair is in contact
wi il water. Their cell wall is thin and
asi iffuses in the passage of

ater fro the soil to leaf is

rater — Root hair — Epidermis —
Endodermis — Pericycle —
~ Stem and leaf.
g water is absorbed by the root hairs,
t can move deepers into root layers by
o pathways. Apoplast and Symplast.
1. Apoplast : This is the non living
path in plants. It occurs through
the intercellular spaces and walls

Deliquescent substances \
physical state on exposure to b

www.Trb Tnpsc.Com

of the cells.
dependent on the'g
2. Symplast i

from

ANT: Ethylene is a

The different actions of
as follows: Ethylene
e ripening of fruits, eg.
Apple, Mango, Banana and
Ethylene inhibits the elongation of
tem and root in dicots. Ethylene
astens the senescence of leaves and
owers. Ethylene stimulates the
formation of Abscission zone in leaves,
flowers and fruits. This leads to
premature shedding. Ethylene breaks
the dormancy of buds, seeds and
storage organs.

30. Ethnobotany is the study of a
region’s plants and their practical uses
through the traditional knowledge of
the local culture of people.

31.Forests are an important component
of our environment. There are
microorganisms, flowering plants,
shrubs, climbers and dense trees in
the forest. Forests provide a vast
habitat for wild animals. Forests help
for the economic development of our
country. Forests are the source for a
wide range of renewable natural
resource.Forests provide wood, food,
fodder, fibre and medicine. They act as
a carbon sink, regulate climatic
conditions, increase rainfall and
reduce global warming. The natural
hazards like flood and landslides are
prevented.Wildlife is protected. It acts
as a catchment for water conservation.
Forests maintain ecological balance.
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KClI:“,q] +AgNO
SamacheerKalvi.Guide

3(aq)
Silver chloride

A‘l l\‘ w >t ate
32 Curdy white precipitate

Ph=pOH=14, pOH=14-4.5, pOH=9.5
PART-IV

33.0ne calorie is defined as the amount
of heat energy required to rise the
temperature of 1 gram of water

through 1°C.(B) Let two bodies A and
B having masses m1 and mz move with
initial velocity ui and uzin a straight
line. Let the velocity of the first body
be higher than that of the second
body, i.e,, u1 > uz. During an interva
time t second, they tend to have 3a
collision. After the impact,
them move along the same
line with a velocity vie
vz respectively.

Fg=my(v2 - uz)/t
Force on body A d
Fa=m1(v1 - u1)/t
By Newton’s 1l
Action force = R

source (S) and listener (L) both are
. When S and L move in such a way
hat distance between them remains
pnstant.

CONTROLLED CHAIN REACTION: In the
controlled chain reaction the number of
neutrons released is maintained to be
one. This is achieved by absorbing the

— AgCl,,+ + KNO.
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reaction is
to produce
ained and controlled

used in

HAIN REACTION: In

chain reaction the
: neutrons multiplies
and causes fission in a large
e fissile material. This results

number
indefinitely
unto
eleaSe of a huge amount of energy
a fraction of a second. This kind of
reaction is used in the atom bomb
. produce an explosion.

A - Silvery white metal - Aluminium
4AL+302---2AL203

An atom is no longer indivisible.

Atoms of the same element may have
different atomic mass.

Atoms of different elements may have the
same atomic masses.

Atoms of one element can be transmuted
into atoms of other elements. In other
words, an atom is no longer
indestructible.

Atoms may not always combine in a
simple whole-number ratio.

Atom is the smallest particle that takes
part in a chemical reaction. The mass of
an atom can be converted into energy [E =
mc?].

(OR)
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Reversible reaction Ireversible reaction

It can be reversed under suitable | It cannot be reversed.

conditions.

Both forward and backward [tis unidirectional. It proceeds only
reactions take place simultaneously. | in forward direction.

It attains equilibrium. Equilibrium is not attained.

The reactants cannot be converted | The reactants can be completely
completely into products. converted into products.

Itis relatively slow. | Itis fast. SamacheerKahvi.Guide

Ethanol is manufactured in industries by
the fermentation of molasses, which is a
by-product  obtained  during the
manufacture of sugar from sugarcane.
Molasses is a dark coloured syrupy liquid
left after the crystallization of sugar from
the concentrated sugarcane jui
Molasses contain about 30% of sucrose
which  cannot be  separated
crystallization. It is convertg
ethanol by the following steps:

concentration of sugar
percent.

ADDITION OF N
Molasses  usually
nitrogenous
yeast during

ammonium ha or ammonium
: OF YEASTRThe

entation tanks’ and yeast is
e mixture is kept at about
¥ days. During this period,
invertase and zymase
in yeast, bring about the
of sucrose into ethanol.

OF ‘WASH: The
ermented liquid (i.e., wash), containing
to 18 percent alcohol, is now subjected
0’ fractional distillation. The main
fraction drawn is an aqueous solution of
ethanol which contains 95.5% of ethanol
and 4.5% of water. This is called rectified
spirit. This mixture is then refluxed over

www.Trb Tnpsc.Com

quicklime for about 5 to
allowed to stand for
distillation of thisfmixture
(100%) 1is obtain
absolute alcoholk

,  of rabbit
arons may be of
based on their

. SamacheerKaIvi.Guide,\
* £ I £ %
L e ST S0 e

(A) (B) (©)
Unipolar (A), Bipolar (B) and
multipolar (C) neurons

1)) UNIPOLAR NEURONS: Only
one nerve process arises from
the cyton which acts as both
axon and dendron.
(II) BIPOLAR NEURONS: The
cyton gives rise to two nerve
processes of which one acts as
an axon while another as a
dendron.

(III) MULTIPOLAR NEURONS:
The cyton gives rise to many
dendrons and an axon.

(OR)

DNA is the genetic material of almost all
the organisms. One of the active functions
of DNA is to make its copies which are
transmitted to the daughter cells.
Replication is the process by which DNA
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makes exact copies of itself. Replication is
the basis of like and takes place during
the inter phase stage. During replication
of DNA, two complementary strand of

formed during the unwinding process.
For the synthesis of new DNA, two things
are required. One is RNA primer and
enzyme primase. The DNA polymerase
moves along the newly formed RNA
primer nucleotides, which leads to the
elongation of DNA. In the other str
DNA is synthesized in small fragm
called Okazaki fragments.
fragments are linked by the enzy
ligase. In the resulting DNA, o
strand is parental and the other
newer strands which is
discontinuously.

SIGNIFICANCE
(i) Itis responsible of
hereditary  info

generation
(ii) It contai
the

(iii) It co

ental process
and life i

1Ssm.

Replication of DNA

DNA unwind and separate from one end \
in a zipper like fashion. The enzyme
helicase unwinds the two strands of the
DNA. The enzyme called topoisomerase
separates the double helix above the
replication fork and removes the twists
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